1710 7"7 '0n 2,00 Pl L7"oa

— 73R '3 TAYRa MbEb 1N
Give it to him; in the presence of all three, he acquires it

OVERVIEW!
Moo informs us of restrictions and conditions in the rule of w"nyn.

- 25511 19111 9THY 19535 23N VY 19MNT 23 Y GNT 05 12229 9N
The n''1 states that even though the rule is that one who sells a note of debt to
his friend and then the seller of the note (the original mbY») forgives the m?, the

loan is forgiven. The 1% is not obligated to pay the buyer, nevertheless if the mn -
- 919 9195 139N INWHY 119993 N3NNI 1N IN 990

Sold or gave as a gift (this 2171 VW) to someone w'»yna, the Mo» cannot forgive
this loan, and the M owes the money to the buyer or receiver of this note.

mdoINn proves his point:
- SHNMIYTA $1990 TOWa MYma 4‘1)2N‘,7‘1 (x,nm 91 PYITRT 72 P92 ¥IYUN 1Y

And so it seems in the second P=p of 2TP Noon where the X 1) states that the
Xn>>12 is discussing a awwa M2 and they are arguing in the ruling of ®Xmw -

- NIV 1Y TR ) IRINYT 1YY 1YY NYTIPN YINT INDT
That the one who maintains she is not nw7»» (the view of 2"7) does not agree
with ®X»w and the 0°no1 (who maintain DwTpn 71°K) agree with X1, The xna

there continues -
= 909 NNYT N9ND NYNI ININYT IND 5N RNDY D15 NN 5PN

" See ‘Overview’ to previous X911 71"7 MOON.

2 32987 (the 71%») has in his possession a note from 1ynw (the M?) that he owes 12187 (a hundred dollars). 12187 sells
this note to "% (for less than a hundred dollars) [not in the presence of 11Wnw] so now Nynw owes M7 (a hundred
dollars). Should 12181 be mn this loan to 1W»w and absolve him from the responsibility to repay, then n1v»w does not
have to pay "7 (or 123%1). [Elsewhere (see 12177 17"710 2,Mp 2"2) it is explained that 12181 will have to compensate *17
for the loss he caused him by revoking the loan (there is a discussion whether J21X1 has to pay "7 the face value of
the note or just compensate him for the amount he paid for the note).]

? In this case 12387 sold or gifted the qww to *Y2 in the presence of NWnw; telling Nynw that as of now 1Wnw owes the
money to 1.

* The X1 there (on 2,1) cites a Xn>12 which states that if one is W7Pn a woman with a 2117 WY (someone owed the
w7pn money which was documented in a 7uw, and he gave it to the woman (as 7°@17p 702) so now the M? owes her
the money), there is a dispute between n"9 (who maintains she is nwTpn) and the 0131 (who maintain she is not
nwmnPn).

> This is referring to the ruling of YXmw that 2w 1™ 1ITM DINARY A"0w 0.

% The o*nom agree with YXmw that the m» (in this case the wTpn) can be Y the m> the debt, so the woman does not
feel she received anything of value (for the w7pn may be 2min the 211 and she will have received nothing of value),
therefore she is not nwTpn, while n"1 disagrees with 2Xmw and the wpn cannot be 9 the debt, therefore the
woman is NWTPA since she received something of value.
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And if you want I can say; everyone (2" and the 0°2om) agree with ®Xmw (that

the m5n can be >mn the 2117), but they are arguing whether the woman trusts the
wIPn -
- SPANNY 9INNY NTTY DAV KT NNYT N9NDT 930 NYTPN MINT INSD

n"7 who rules nwTipn assumes the she trusts that the wp»n will not abandon

her and will therefore not forgive the other (the m?) the loan (while the 251 do not

assume this). Md01N continues with the X n3 there -
- Sm195a /) 1ayna NP SN XY 2972 91058 N9 Yy MIYa MNIND 29

And when the X 1) there explains the Xn>72 that regarding an oral loan, they

argue in the ruling of X177 239 whether w''ny» is effective even by a loan or only

by a 9]17|?D. This concludes the citation from the X n) -
= HYNPN NNHY 29195 MYNA AN NN 297 91D 5PN INT YyRUnN

It seems that if they will agree with X137 29 even regarding a loan (that w'"»nvn is

effective) then she will be nwTIp» according to all (2°10m ") -
- INYT NN XYT H0WA MY 22X 1Y NPNT INIY HYTIPN INNN HINNY 199 IN)

But if the m>» can be »m» (even by w"»yn) why is she nw7ip» according to the

0°non who maintain by a auwa m9% that since she is not 7nyT 7229 she is not

nwTpn -
- 19 5Y MYN 1PON NI NP NAYY S99 NN YN P01 XY INNPN)

So why did not the X713 conclude, ‘and if T want I can say; that everyone

agrees that v'"nvn is effective by a loan and even by a "y %, however onom n"--
= 90Ya MYNIN ININYIN D017 199 NNYT NIND NYNAI)

Argue whether 7nyT 7250 AWK or not’, just as the X3 concluded regarding

bR in a case of w2 mvn -
- 15515 9195 139N INUHY 1Nt ¥nwn NN

But rather since the X3 did not conclude in this manner this indicates that by
w''»yn the M9 cannot be Hrn!

7 The ®n»72 there mentioned an additional case (2nX7 m%»3) in the dispute between ©m3m n". The Xm3
understood that this case is regarding a 8"y mon.

¥ The wpn transferred the loan to her in the presence of the mb. n" agrees that w"nyn is effective even by a mon,
therefore she is nwTPn; however the oon maintain that w"nyn is effective only by a Npd, but not by a mon,
therefore she is not nwpn, for she received nothing.

? The xm3 there did not conclude that everyone can agree that w"»v» is effective even by a mo», but they are arguing
whether 7ny7 7510 TWX that he will not be 2mn the loan, or not (as it had concluded previously concerning 2X1m2 by
a wwa mon).

"It is understood however why the X3 does not answer here that Xw72 "% (if one can be Ymn a 8"y mon if it
was transferred w"vn1) as the X m3 answered previously regarding a quwa m>n, because in this case there is no
nPonn (see TIRT X"w1an as to what the ruling will be in such a case).

' Therefore the xn3 could not have said that all agree that w"ayn is effective by a m9n, for why would the 2>non
maintain NWTIPR 7R, since the w7pn cannot be Hmin the 211,
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mooIn asks:
- 2959nxa 79ANY XY 223 (4,0 97 xnp x32) TIND D993 9NN ON)

And if you will say; in 21177 p95 regarding the case where a married woman

wounded others -
- Babnm oy nYya 2239 95 2wm Paxn NIV ANINI AT 70997

Where the X713 asks (why is she Mv9); ‘but let her sell her 772105 for a iR naw’
(and with this money she will pay the injured person) and the X713 answers;

whenever it has to do with her husband she will surely be »r1% her husband the
112102, This concludes the citation from that X303, and N1dOIN asks:
= DINNY YN KXY INT INYHY 1H¥N2 MNINN SNIN XYM

But now that there is no 77°nn by w"»vn, she can still sell her w'"»wn»2 72103, for

then she cannot be »m» the obligation. She will then pay her victim with this money; why
is she Mwo?!

mooIN rejects an anticipated solution to this question:
- Y535 9099 Y3 195981 ¥ nrwsa XN PNy XY ONT YyanT 2y Yy aNT

For even though the husband will certainly not agree to this arrangement,
nevertheless I have previously explained that w'"»nvn is effective even against the

will of the debtor. The question remains if W"nyn is 1P even 3"v2 (of the debtor), why cannot
the woman sell her w"v»2 72103 and pay her victim.

mMooIn has an additional question:
- IMYAN MY 219 Yyan NNIN BYT ) 1TaYNa 9N nvyaa nvanw 22y B

And furthermore regarding the case of a woman who wounded her husband,

"2 The X3 there cites the 7awn (on X,19) that if a married woman wounded someone she is exempt from paying
(because she has no money of her own [it belongs to her husband]).

3 Let us assume that the face value of the 7210 is two hundred o117, meaning that if her husband divorces her or
he predeceases her, she will receive two hundred a°71°7. The woman can sell this futures contract and the buyer will
pay her for this right to collect the 721n2. The price will be (much) less than two hundred o717 for maybe the
husband will never divorce her and she will predecease him, in which case the buyer of the 721> will receive
nothing. This reduced price which she can receive for selling her 7712103 is called 7R3 n2w.

' See the X3 and *"wA there 71m 77 that we do not allow her to sell the 72103 because since we are certain that she
will be 9mn the 721n3; this will cause the buyer an undue loss.

'> The husband is not gaining anything by this and he would rather his 7213 be paid to his wife (upon his death)
than to a stranger, for then her children (his children) will eventually retain it, but now he is losing it for a low price.
[Alternately, he may not want his wife to achieve (any semblance of) financial independence, by her selling the
720 (W 21 1" M on). |

' See previous oW 7" MOOIN.

' See 7w 0"~An that 7"2 will force him to be present at the w"»yn, in order to pay the victim.

'8 This is a difficulty even if we were to assume that w"nwn is effective only with the consent of the debtor (in this
case; the husband).

' The xm3 there (on 2,v9) cites a Xn**72 that if a woman wounded her husband she suffers no loss. v"»¥.

3
TosfosInEnglish.com



1710 7"7 '0n 2,00 Pl L7"oa

why is she 709, let her sell her w'»wna 72100, and pay her husband, for in that
case the husband will agree to the sale in order to collect payment for his
wound —

Mmoo presents a similar difficulty:
- 093y NS’ 933 (3,00 97 NI NI2T NP D99 9102 19

And similarly in the end of the first P95 of »''2 noon regarding where one

found a receipt of payment for a 720> -
= HPal 99N INNIN DTN NYNNAY )91 79999

Where the X723 challenges why is it that when the woman admits to the validity

of the 722 we return it to the husband -
- 25595 590 1Y NN XYY 10233 11%Y NANI NNYT WIN

Let us be concerned that perhaps she wrote the 712 to give it to her husband in

10°1, but she did not give it to him until the following swn, etc. -
- HNINWTY RPN DI YOV SIUN)

And the X3 answers; we derive from this ruling that ®X»w is correct. This

concludes the citation from that X773. Now m»oin concludes his question -
— 2IN1Y N1 NINT /) TRYNA N9 NNIPYT WIN RNYN)

But let us still be concerned for perhaps she sold the w''»y»2 72102 where she

cannot be ®m», so the buyer knew that his claim cannot be revoked, but by returning this
receipt to the husband we are hurting the buyer illegally!

moon answers (the last three questions regarding 712102):
- 2abyh 1923 2199 XaN XYY TWANT NI /) T0¥0 13599 K97 929 ¥

And one can say; that the 2°nor did not institute 2''»y» by the sale of a 712103,
since it is possible that the 72103 will never be collected.**

% The x7m) there cites a Xn™ 2 that if someone found a receipt for a 72N> (where the woman acknowledges
receiving payment for her 721n2), if the woman admits that she received the payment, we give the receipt to the
husband (to keep as proof, so she cannot claim she never received her 712112 payment), if the woman denies
receiving payment we do not give the receipt to either party.

2! 301 time the husband told her he would pay up her 72103, provided she writes him a receipt. The woman had a
receipt written up dated some time in j0°1. The husband however did not pay her in 7071, so she kept the receipt.
Sometime after 10°1 she sold her 72105 to a buyer (and wrote him a note that she sold him the 72102 in 1%n). The
husband paid up her 71210 by *wn time and she gave him the receipt which was dated the previous 70°1. When the
buyer of the 712105 approaches the husband to collect the 712105 that he bought, the husband will show that he already
paid the 7712103 in 10°1 (before the buyer bought it in 172n) and therefore the sale to the buyer is invalid, because there
was no longer a 712105 debt. By returning this receipt we are hurting this buyer fraudulently.

22 XM maintains 2 1o WM 1220 1"vw 9w, The buyer is not being hurt, for he knew initially that his
purchase of the debt can be revoked at any time by the woman (the 777 in this case). He accepted this risk.

> If the husband does not divorce her and she predeceases him, the 72103 remains in the estate of the husband.
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mooin offers an alternate solution regarding the case of the 72w (only):
= INYHY ¥R N9 RNDYT D9 WIND 1PN 921V %) ONNT 9D Y MY

And in addition one can say that there regarding the 222 there is no concern

at all that perhaps she sold the w''%y»2 72103 -
- 1999101 19995 NYRN) Y¥aN 19 ON N99NY B31Y PN ONT

For if there are no witnesses that she sold the 12102, then the husband and wife

will deny the sale -
- a9y 921WN INT) PNY 1959N IN N¥INI HYANY DIIINY B1Y YO ON)

And if there are witnesses who say that the husband agreed to the sale or even
if he was silent and did not protest the sale, then certainly the 922 is false -

919 1932 1599 HaND NNPYT YWNNIY XYY HNN 12IWIY NI IN NN ON)
And if the o7V testify that the husband protested by the sale and claimed he
already paid up the 72102, then it is evident that it is a valid 9212 and there is no
concern that perhaps she wrote the 1212 to give it in j0°2, etc.

SUMMARY
One cannot forgive a loan that was transferred w"v»2. There is no 73pn of w'"nyn by
a 1a1n2.

THINKING IT OVER
1. Why is there this difference that if a n"vw is sold w"»¥na the MmYn cannot forgive
the loan; however if it is not sold w"v»3, then the MmY» can forgive the loan?”’

2. What is the logic that there is no ¥'"»y» by 72103 since it may not be collected?>®

# See 95 1"7 R,09 "2 MO who writes: MY 7IN%1 XY PHTYT 13 79¥ DAN 7T 72IN22 DWW PR INWHIY TaynT "y
* The buyer is not losing anything no matter when the 721w was written. It is obvious (since the woman is admitting
to receiving payment from her husband) that they are in collusion against this buyer; he has no chance of collecting
for they will both deny that any sale took place. [It is important to remember, that there is no buyer before us, we are
just concerned about the ramifications of returning the 7212 to the husband.]

26 The ~2w is dated 1073, and the 0*7v testify the sale took place the following 1an with the husband agreeing or not
protesting the sale; it is obvious that at the point the 72112 was not yet paid and it is a predated 721 and is invalid!

%" See 1"nx # 37.

* See n"m1 and »w MR "2,
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